E’E university-Gaza

illf' Pharmacy

T Physiology |
S dr Mohamed Shbair

1}: st ase when there is

Dl o Tt arterioles, final 2013

g of the afferent arterioles,
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tilation means the amount of air flowing through
6. Alveolar ven

a. Bronchus,
b. Only alveoli
¢. Gas exchange arca
d. Entire respiratory tract.
7. In normal healthy person
Lhmmmmdﬂdﬂwﬂ“*’j
b. Anatomical dead space is more
c. Alveolar dead space is more than
d. None of the above,

the anatomical dead space.

8. The main barrier preciuding the free passage of albumin across the glomeruly; ,
walls is formed by

a The fenestrated glomerular endothelium.

b. Anionic proteoglycan clusters within the glomerular basement membrane,

c. The filtration slits in between podocytes.

d. None are correct.

e. All are correct.

9. Concerning the measurement of renal plasma flow (RPF) and glomerular filtratio
(GFR)

a. Inulin is a good GFR marker because it is freely filtered in the glomeruli and it is not
reabsorbed, or secreted, by the renal tubules.

b. Inulin concentration in the proximal tubule's lumen increases progressively as water is
reabsorbed in the segment of the nephron.

c. PAH (para-amino-hippuric acid) is a good marker of RBF because it i filtered 8
rapidly secreted by the proximal rubyle, i

d. a and ¢ are correct,
e. All are comect.

2 or water g ?
hypertonicity in the lateral space bwlm the proximal tubule is a compartmentt
b. Water passively flows from the a.r cells.
intercellularly through lealy tighy ok €N Into the laterg] spaces, either through b
&, Aquapmin.hl {_Wﬂﬁ ':hll'lnn'lsi are s,
tubule cells. Sun

dantly present in the luminal membranes of I*
d. a and ¢ are corredt

e, All are correct.



g (0P 1sa senses the amount of sodum _
ik der chloride of tubular urine being defivered by the

o the distal convoluted tubule.
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| rlcase CAUIES angiotensin | formation and ingirectly aldosterone release.

..Ijﬂ“ﬂlhl 1
% - mpmnﬂ_in-lldﬁtﬂﬂm system includes angiotensinogen production by the liver,
" secretion BY tll'-‘]“-““ﬂlﬂmm"]“ apparatus and angiotensin-converting enzyme present ot the
L surface of ﬂll.‘lﬂthdlﬂ cells.
% jerone, but not angiotensin IL, stimulates thirst and salt appetite.
angotensin 11 induces marked increases in sodium reabsorption by the loop of Henle and the

]

1 Cencerning the function of the proximal tubule

3 Most of the glomerular filtrate is reabsorbed in the proximal tubule.

The concentration of PAH doesn'l change much along the length of the proximal tubule.
- nder normal conditions, all of the filtered glucose is reabsorbed in the proximal tubule.

ﬂ?ﬁ.lrill matriuretic peptide
LIncreased water reabsorption. v, g— =
hl'ldmmd sodium reabsorption.

& Increased angiotensin 11 formation.

& Increased sodium reabsorption.

1 Whea ADH levels in the blood are high, the collecting ducts are

!‘h‘r“}' impermeable to water.

If?ﬂ}' Permeable to protein molecules.

. Eﬂ'ﬁf permeable to waler. -
'!iih:, Permeable to sodium and chloride fons.
0% of the above,
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16. The process of micturition o upetion

muscle
a, Invol jon of the desruso”
ves relaxation 0 w.l.ujllrﬂhrll muscle.

b. Requires contraction of the &% :
c. Is a reflex involving sacral wﬂfmllpiﬂll -
d. All of the above
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Aldosteronc is made in the hypothalamus and released from the anterior pituitary !
18, Which of the following would NOT be secreted from the interstitial fluid into th{j
a. Organic acids '
b. Amino acids

c. Organic bases "
d. Creatimne ‘
19. The most important function of the juxtaglomerular apparatus is to

& Secrete water and sodium mio the filtrate |

b. Reabsorb sodium.

¢. Secrete renin in response to decreased renal blood pressure or blood flow,

d. Constrict the afferent anterioles and decrease sodium reabsorption.

20, Which process is most affected by blood pressure?
a Tubular secretion

b. Tubular reabsorption
¢. Glomerular filiranon |
d. All of the above.

21. Stool of a person b whitish grey coloured due to
a. Liver.

b. Kidney.

c. Spleen

d. Pancreas,

malfunction of which organ?

22. What will happen il tlﬂbu-mh
tabibiai? of parietal cells of gastric glands is blocked with?

converted 10 rypsin. m%memmﬂmmﬂﬂmmmﬁmﬂmi’“
h‘ﬁm:jdﬂwmhdﬁﬁmm _
c.Papsmosmﬂ““‘m““‘“hﬁTw'

d. None of the above.
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b, Gall hladder.

- Small intesting.

¥ gromach.
L E removed from undigested food when it is in the large intestine?

¢, Water.

d. Digestive juices.

26. Which one of the following is true about the digestive system?

2. All the digestive enzymes are synthesized in glands located out of the digestive system.
b. The digestive system throughout its length is covered by a single type of epithelial cells.
¢, The digestive system is made up of voluntary fibers.

d. The digestive enzymes do not digest the organs of the digestive system.

27. Which one of the following digestive organs does not secrete the enzyme amylase®
a. Salivary glands.
b. Pancreas.
& hepatic cells. —
d. Intestinal glands.
28. Which one of the digestive organs does not contribute a digestive enzyme?
mn’ & Stomach,
b. Liver,
¢ Pancreas,
d. Intestine,

29. Which one of the follo
ced wid's E“H“ﬂ'r Juige.
b. Gastric Juice,

wing juices is important for lipase activity?




30. Which one of the following nerve I$ mainly concerned with ST edocry,
secretions in the digestive t}'rtﬂll?

a. Somatic nerves.

b. Cranial nerves.

¢. Enteric nerves.

d. Autonomic nerves.

31. Which one of the following secretions is not influenced by the migrating motility
complex?

a. The salivary secretion.

b. The gastric secretion.

¢. The liver secretion.

d. The pancreatic secretion.

32. The term: "pulmonary ventilation™ means
8. The expansion of alveoli due 1o pressure differences .
b. Breathing due 1o movements of the ribs,
¢. Breathing using the diaphragm only ,
d. The movement of atmospheric air into the lungs
¢. Gas exchange between the atmosphere and lung alveali

b. Active transport mechanisms,
¢. Filtration.
d. Diffusion.

35. How do you calculage how

minute?

a. Subtract the volume nf&m
was al

inspire if that won't reac th | from the udr:d “"-‘ Il-mgs Plus the dead space of ®

c. Subtract the volume of deagd Pace . volum

4. It is equal 1o the tidal volume ey gy
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h of the following Is INCORRECT COncerning the
JF"T,{I; through the lungs and tissues?
iﬂ'ﬁ“;"m" o Hb changes its configuration so thay cO2 and H+
s. Bindl 2
O o iffused into the alveoli, the PCO; is Towered.
. mic ;:id is an intermediate in the reaction combining H+ with HCOy™ to form Hy0 ang
[ =9

:'C:.m-i,gl blood flows to the tissues where H' ions combine with HCOy to form H30 and CO,.

02/ CO; movemeny and

ions are more likely 1o

37, 1f you blocked the blood supply to an alveolus, which of the f, ollowing woukd
o The ventilation perfusion ratio would be zero,

b. The PO; would be greater than normal.

¢. The PCO; would be zero.

d. All of the above are true.

38. Which of the following is the primary regulating variable
o POu.

b. PCO-.

c. arterial pH.

d. Input from stretch receptors.

39. Which of the following is not a stimulus for breathing?

a. Rising carbon dioxide levels.

b. Rising blood pressure,

¢ Anterial Po; below 60 mm Hg,

d. Arterial pH resulting from CO: retention.

of the central chemoreceptors?

40. The respiratory membrane is a combination of
& Respiratory bronchioles and alveolar ducts.

b. Alveolar and capillary walls and their fused basement membranes,
¢ Atria and alveolar sacs,

4 Respiratory bronchioles and alveolar sacs.
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:’ﬁﬂnmlnlrﬂpimmr}rmwpﬁrﬂﬁl iz called to act during normal quiet breathing.
1* Rhythmicity of breathing is brought about by pacemaker activity displayed by the respiratory
m‘l 4

A

! ”' Vemilation is mechanically accomplished by aliernately shifting the direction of the pressure

E:’Hﬂ for mirflow between the atmosphere and the alveoli through the cyclical expansion and
TRee] of the il.ma;‘

W The :
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Part IIl: Answer the following questions:

chloride shift, indicating the role of each iy, 843 1y
d

ane effect an

1. Define Hald
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6. How the stomach lining is protected from gastric secretions?




the 'ﬂ’"ﬂ“’[ﬂl hl"ﬂlh]n: Flﬂt‘l’ﬂ! on pulmonary and aiveolar

he effects of
ywhat ’:i'; soeps sloW preathing and shallow rapid breathing?
yentilatiors
h
. * Mention the absorptive mechanisms for carbohydrate, protein and fat.

5 Discuss the role of bile safts in digestion of fats?
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